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10.

INSTRUCTIONS FOR CANDIDATES

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue / black ball point pen only.

The test is of 2% hours duration and consists of
150 questions. There is no negative marking.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses in the Answer
Sheet.

The CODE for this Booklet is A. Make sure that the CODE
printed on Side-2 of the Answer Sheet is the same as that
on this Booklet. Also ensure that your Test Booklet No. and
Answer Sheet No. are the same. In case of discrepancy, the
candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the
Answer Sheet.

This Test Booklet has five Parts, I, II, III, IV and V,
consisting of 150 Objective Type Questions and each
carries 1 mark :

PartI : Child Development and Pedagogy (Q. Nos. 1 - 30)
Part II : Mathematics (Q. Nos. 31 - 60)
Part III : Environmental Studies (Q. Nos. 61 - 90)
Part IV : Language I — (English/Hindi) (Q. Nos. 91 - 120)

Part V : Language II — (English/Hindi) (. Nos. 121 - 150)
Part IV contains 30 questions for Language I and Part V
contains 30 questions for Langﬁlage II. In this Test Booklet,
only questions pertaining to English and Hindi language
have been given. In case the language(s) Ivou have opted
for as Language I and/or Lanéuage Il is a language
other than English or Hindi, please ask for a
Suptplement (Language) Test Booklet of A Code that
contains questions on that language. The languages
being answered must tally with the languages opted
for in your Application Form. No change in languages
is allowed.

Candidates are required to attempt questions in
Language II (Part V) in a language other than the one
chosen as Language I (Part IV) from the list of
languages.

Rough work should be done only in the space provided in the
Test Booklet for the same.

The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener is allowed
for changing answers.

In case of any discrepancy in the English and Hindi versions
of questions/answers, English version will be taken as final.
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(2)

PARTI / W [
CHILD DEVELOPMENT AND PEDAGOGY | ate farema & Rreromes

Directions : Answer the following questions by

selecting the correct/most appropriate option.

1.

Dysgraphiais a:
(1) Speech  disorder characterized
stuttering and errors in articulation.

by
(2) Locomotor disorder characterized by
gross motor impairment.

3

Neurological disorder characterized by
trouble in forming letters and shapes.

(4) Psychological disorder characterized by
lack of attention and impulsive
behaviour.

The approach to educating gifted children
which moves them through curriculum at an
unusually rapid pace is known as :

(1) Differentiated instruction
(2) Enrichment

(3) Acceleration

(4) Immersion

Teachers who are working towards inclusive
classrooms :

(i) Create curriculum adaptations
(i1) Incorporate diverse perspectives
(iii) Examine their own implicit bias
(iv) See diversity as an obstacle
Which of the above are correct ?

(1 (@, (i), (ii), (v)

(2) @, (i), (i)

3) (1), (ii), Gv)

(4) (ib), (iid), (iv)

While agencies of socialisation are
predominantly  important in infancy,

agencies of socialization also
become important in early childhood.

(1)
(2)
3)
(4)

tertiary; secondary
primary; secondary
secondary; primary

secpndary; tertiary

s : f[Aefrfea geat & 3w 31 & fov agliaagd
3fera fashey e

1.

feanfw .

(1) T T faehr & et o geharn
I AT H AT FEATL |

T e forepm @ et forivar s
el TRET R |

U dfreh faer @ et foamivar st
I TR T S H HiSTE 2 |

T T {2 freeht foreryar e
T ST ST ATATI A TR 2 |

gferTaT st o1 FTferd S =61 SUmTH S S
T &Y A AT TG & g1t o ureay |
I SIGTAT &, T el & 2

(1) Toufeq Fesm

(2) Gaeq

(3) IO (TTicrarg)

4) fousk

f3rereR ST GuTaet SmeqreT A fesm T P W @ &,
IR fRa:

(i) TEHEEl H ST

i) fafaw gfEenon =t it L

(iii) 37O T o SAdTTed qaTe i S Hl
(iv) fafooarm s arn s wq ey

T H & H-H EE T 2

1 @), Gi), Gii), (v)

(2) (@, (), (iii)

3) (), (iid), (iv)

4) (i), (iid), (iv)

SISTaTaET H HHTSROT i e
TG F E WEw@U €, Stk YRR STeree
T GTSIRT sh HeTd o HEwqul
BT E |

(1) qfareh; ATeAten

(2) W,m@ﬁzﬁ

(3) HreATye; Tt

(4) HTEAfie; IdiEeh

(2)

3

4)




(3)

According to Lev Vygotsky :

(1) Social factors influence language
development, but not cognitive
development.

(2) Cognitive development facilitates
language development.

(3) Language development and cognitive

development advance independent from
each other.

(4) Language facilitates

cognitive development.

development

At which level of Lawrence Kohlberg’s moral
reasoning, do children typically believe that
people should live up to the expectations of the
society and behave in “good” ways ?

(1) Post-operational level
(2) Pre-conventional level
(3) Conventional level

(4) Pre-operational level

Read the following statements and choose the
correct option :

Assertion (A) :

Interaction with more knowledgeable others,
such as teachers and peers, can provide the
necessary support and guidance to help
learners develop their understanding and
skills.

Reason (R) :

Social interaction is a key component of
learning and development.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(4) (A)is true, but (R) is false.
Download from www
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(1)  I-HlhaTeHs &1
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(3) URUN&h &
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Waﬁﬁm:

HYFLT (A) :

F @Y araed, et @ ST any iR

HINA IR T | Hee i o [0 ATaw=h

Tl 3 ANTeSTT YeT o Hehd R |

PRI (R) :

TS Eueh i S foshe 1 T THe

THT |

(1) (A)IMER) I TATL |

(2) (A) 3R (R) ST GET 2 AT (R), (A) T Ter
TR |

3) (A) R (R) AT W& &, T (R), (A) A
el ST 7E R
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8.

10.

11.

(4)

What is the main goal of ‘assessment for
learning’ ?
(1) To identify students who can be

categorised as ‘slow learners’

(2)

To evaluate student performance and

assign grades

(3) To provide feedback to students that can

be used to improve their learning

4)

To compare student performance to a

standard or benchmark

At which age can children engage in word play
and like jokes and riddles that involve a play

on words ?
(1)
(2)
(3)
(4)

Twelve years
One year
Three years

Seven years

Carol Gilligan has critiqued Kohlberg’s theory

of moral development :
(D
(2)
(3)

from a social cognitive perspective.
from a feminist perspective.

for not giving adequate importance to

genetic factors.

(4) for using case study as the research
method.

One of the main characteristics of
pre-operational thought according to Jean
Piaget is which refers to the
tendency to focus on one aspect of a situation

and neglect others.
(D
2)
(3)
(4)

Causation
Centration
Decentration

Transduction

Download from www
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12.

13.

14.

15.

(5)

In early childhood, growth __ and thinking

is , while in middle childhood, growth
and thinking is

(1

slows, somewhat egocentric; is steady,
logical

(2)

is steady, somewhat egocentric; slows,
logical

3
4)

is steady, logical; slows, egocentric

slows, logical; is steady, egocentric

Which of the following is a gross motor skill ?
(1) Knitting

(2) Swimming

(3) Cutting along the outline of a circle on a
paper

Cutting along the outline of a big
rectangle on a paper

4)

Physical growth and development follow the

and principles of

development.

(1)

integration (simple to complex);
differentiation (complex to simple)

(2)

cephalocaudal (top-down); proximodistal
(inner to outer)

3

proximodistal (top-down); cephalocaudal
(inner to outer)

(4) differentiation (simple to complex);

integration (complex to simple)

According to Howard Gardner, a philosopher

has type of intelligence and a
sculptor has more type of
intelligence.

(1) linguistic; interpersonal

(2)
3
4)

spatial; intrapersonal
intrapersonal; spatial

interpersonal; linguistic

12,

13.

14.

15.
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(1)

(2)

3)

4)
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16.

17.

18.

19.

(6)

Experiential learning stresses on :

(1)

control of teacher on the learning of

children.
(2) the role of reinforcement in learning.
(3)

(4)

importance of critical reflection.

learning as a product rather than a

process.

Which of the following is an effective method
to enhance problem-solving skills in children ?

(D

Discouraging independent thinking and

focusing on declarative knowledge

(2) Encouraging them to avoid difficult
problems
(3) Providing them with ready-made

solutions to problems
(4)

Giving them opportunities to brainstorm

and make intuitive guesses

Read the following statements and choose the
correct option :

Assertion (A) :

Teachers should create a meaningful
environment which seeks active participation
and engagement of all children.

Reason (R) :
All children are intrinsically motivated to
learn and are capable of learning.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not

the correct explanation of (A).

(4) (A)is true, but (R) is false.

Which of the following process
does not contribute to the course of learning ?

(D
(2)
3
(4)

Organization
Categorization

Conceptualization

Pepyisttiteiad from www
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21.

22.

(7)
20. fHfIRad o & SH-91 U UH Y9 1 30T

Which of the following is an example of a
question that requires students to reflect on
their own thinking ?

(1)

What is the relationship between nouns
and verbs in a sentence ?

(2) What is the definition of a verb ?

3

How do you change a verb to the present
tense ?

(4) How has your thinking about the use of
verbs changed since the beginning of the

class ?

Which of the following is an example of an
internal attribution for failure ?

(1) T received a low grade because the
teacher is a tough grader.

(2) 1 failed the test because I didn’t study

enough.

(3) I didn’t get good marks because the

teacher was biased.

(4)

I failed the test because my friends were
distracting me.

Read the following statements and choose the
correct option :

Assertion (A) :

At a very early age, girls in most cultures
across the world choose dolls as toys while
boys prefer to play with cars.

Reason (R) :

Children organize information about what is
considered appropriate for a boy or a girl on
the basis of what a particular culture expects
and behave accordingly.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not

the correct explanation of (A).

(4) (A)is true, but (R) is false.

Download from www.
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23.

24.

25.

26.

(8)
As per Lev Vygotsky, _ plays a 23.
significant role in the development of

conceptual abilities among children.
(1) Tangible rewards

(2) Peer collaboration

(3) Social isolation

(4) Standardized curriculum

According to Lev Vygotsky’s theory, inner

speech :

(1) is a way for children to communicate with

an imaginary friend.
(2) 1is a sign of cognitive immaturity.
(3) 1is a sign of developmental delay.

(4) is a way for children to regulate their own

thinking.

Four-year-old Aparna says that a button is
alive because it helps tie her shirt together.
According to Jean Piaget, her thinking is

characterized by :

(1) Transductive reasoning
(2) Animistic thinking

(3) Centration

(4) Hypothetical-deductive thinking

Which of the

characterstic of students having autism ?

following is a typical

(1) Superior ability of differentiating fiction

from fact
(2) Advanced socio-emotional reciprocity

(3) Frequent repetitive and recurring

behaviour

Higher level of commpunication skills
@ I TS Www
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28.

29.

30.

(9)

Read the following statements and choose the
correct option :

Assertion (A) :

To facilitate critical thinking among learners,
teachers should expose them to diverse
situations and differing perspectives.

Reason (R) :

Students learn and enrich their abilities to
think critically and creatively as they engage
in conversations across differences.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(4) (A)is true, but (R) is false.

The primary goal of learning should be :
(1) memorization of facts.

(2) becoming excellent at rote rehearsal.
(3) competing with peers.

(4) development of critical thinking.

Children learn more effectively if a concept
proceeds from :

(D
(2)
3
(4)

Generic to Specific.
Abstract to Concrete.
Complex to Simple.

Rational to Empirical.

Variability in learning styles of students :

(1)

should be valued and seen as a reflection

of human diversity.

(2) should be ignored and attempts should be
made to bring uniformity in learning

styles.

should not be taken into consideration

3

during teaching-learning process.

should be seen as a barrier and hindrance

© BIOWHTBAT FSEM www
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HEIRCHIT

(1) T T

(2) T ATE LA o AT H Ieohee ST
(3) TEeRfET 3 Ter et

(4) FHTATATCHS feida o1 foerma

I=3 T g9 @7 ¥ 99 dEy § A a8
STIYO :

1) = Y fafire f st Tt 2 |

(2) ST & A T AR TG B |

(3) SIfee U WA i ST TG 8 |

(4) THET H SITWIS hT SR Q1 2 |
Torenferat it e i Aferat 7 farfererar -

(1) o gew fear ST =nfee it ge faferemar
& fcfsiel o &9 1 @1 STHT A11Y |

F e H THET =Ry R Hwd i
NfAAT H THEIAT A HT TA TomAT STHET
=Y |

1 fareqor-stferm gfshan & S s | 7
[T STHET 977 |

i T3Terur-aferme Ifsha & srem 3T 3fee
& ®9 T @7 STHT =Y |

3

(2)

3

4)
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P-I/A

(10)
PART II / WTT 11
MATHEMATICS / Tfura
Ry : FRofcifaa 71 & 3¢ 27 & fow agt/aaa

Directions : Answer the following questions by
selecting the correct/most appropriate option.

31.

32.

Which of the following statements about
nature of mathematics are most appropriate ?

A. It helps the child to be creative.

B. It helps in the
imagination.

nurturing child’s
C. Itisbased on deductive reasoning.

D. Itis always convergent.

Choose the correct option :

(1) A,BandC

(2) BandC

3) AandC

(4) Aand B

To

among children,

develop appreciation for mathematics
a teacher performs the
following activities in the class. Choose the
one which is not effective to achieve her

objective.

(1) She always praises the student who
achieves highest marks in the class in the

term-end examination.

(2) She shows to children the videos on
Indian mathematicians and  their
contributions.

3

She gives mathematical puzzles and

magic squares to be solved in the class.

(4) She establishes a mathematics corner in

her class where students can perform

various mathematical activities.

3Rra fawey 9T |
31. HAfAREd § & -8 U UG hl T o X
T T ST © ?

32.

A, IT = A GoHTCHS I H TRTIAT Ll
2

B. I = ol THeUAT i WNd L H FEr=ar
FATR |

C. Ig fmTenes faa=r (deh) W e 2 |

D. I &HIm ARER AT R |

Gﬁﬁwgﬁq

(1) A,B3RC

2 BIRC

(3) AIRC

(4) AINB

T=at § i stfiefa o fasfia w0 & fog,

ush refuent fefafaa nfafafmt st wem d

FET @ | §TH U I8 T ST 30 37T I I

T g9t 78 ? |

(1) o€ gaum 39 fommeff it yviEr Fdt ¥ S

HETT | AT LI | Tord ek 39k e

FAT/FA B |

IE Tedl o VR Tt 3T Sk

et & et feardt 2 |

T el | T qRferar A S o g

L o AT ST 2 |

S8 AU e T ek O T ST

2 Stet W forameff fafirr wfordrr nfafaferat

FLHFA S |

(2)

3

4)
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33.

34.

35.

36.

(11)

Which of the following statements is not
correct ?

(1) Errors of the students give information
about their thought process.
Errors in mathematics
learning.

Errors in mathematics help teachers in
planning their lessons.
Errors of the students
overlooked as pointing
demotivate them.

(2) are part of

3

should be
errors will

(4)

Which of the following statements is not

correct about assessment ?

(1) Norm-referenced assessment is useful in

diagnostic testing and remedial teaching.

Criterion-referenced assessment is to

evaluate the mastery learning of the

students.

Criterion-referenced assessment is useful

in diagnostic testing and remedial

teaching.

Norm-referenced assessment tells us

where a student stands as compared to

other students in his/her performance.

Mathematical learning material :

A. helps teachers in demonstrating the
formulae.

B. helps students in self-learning.

C. helps teachers in providing instructions.

D. develops learning environment in the

(2)

3

(4)

class.
Choose the correct option :
(1) CandD
(2) Aand B
(3) BandD
(4) BandC

According to the National Education Policy
(NEP) 2020, olympiads and competitions in
various subjects will be across the
country.

(1)
(2)
(3)
(4)

made easier
strengthened
discouraged
reduced

33.

34.

35.

36.

P-T/A
frefefad e g @ wim-aTadt 787 = 2
(1) foenfiEt & Afeat T @R A afr
(fFierT) o s H ST 2t € |
wifora & Afeat srferm o e At € |
nﬁmﬁaﬁm%@aﬁﬁaﬁmwaﬁaﬁw
SR Heg T E |
foremfelat =t FfeaT i e 3T =Ry
gﬂﬁs St S SR I SHT IO

|

AheAT o I H (HHfafgd § & 981 e
T et © 2
(1) YHH-HeHd 3Mhad JeiHes qheor 37T
SUETIcHeh f37eTor § S92 |
AHce-Hefiia Arena forenfofat i srferm
T AT 7 JeaieR T © |
AMee-HeNid 3Tl JeTeh T 3R
STETcH 378707 & T R |
AHh-Eed 3Tl 8H odrdr & foh Tk
forameff s9a wesv & = famnfoan i
T 4 el @eI/EL € |
oreRr TR ETH

T o e | Rrerehi shl 7e T € |

T iR o i o weT wdi |

w3 1 gl A Aeg FAT B |

e ¥ rfers rarawer & i s H

e AT 2 |

wet fershe T

1) C3RD

(2) AINRB

(3) B3IRD

(4) B3INRC

TSR fRred Aifd (NEP) 2020 o SITER, a9-90 H

fafirr frwdt o oNfifare ot wRmfETd
Huil

(1)

(2)

(3)

4)

(2)
3

4)

(2)

3

4)

cawp»
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P-I/A
37.

38.

39.

(12)

Concepts like more-less, long-short, far-near,
big-small, etc. are :

(D
(2)

Vague terms for comparison.

Antonyms, not necessary for learning
mathematics.

3)
4)

Simply English language adjectives.

Important pre-number concepts.

According to the National Curriculum
Framework, 2005, classroom researches have
indicated a fairly systematic devaluation of
girls as incapable of mastering mathematics
even when they perform well in mathematics.
What is the most appropriate reason for this ?

(1)

Poor performance of girls in mathematics

is due to the fear of mathematics
prevalent in them.
(2) Mathematics, by its nature, is a

male-dominated subject.

(3) Gendered constructs of society have led to
the belief that boys use more innovative
strategies for problem-solving and thus

have better conceptual understanding.

(4)

The mathematical abilities in boys are
innate.

Classroom researches have shown that most of
the students find mathematics more difficult
than the other subjects they study in the same
class. Which of the following aspects of the
nature of mathematics adds to this fear ?

(D
(2)

The vast knowledge base of mathematics

The scope of multiple answers to a given
question in mathematics

(3) The scope of a number of different
methods to solve a problem in

mathematics

(4)

The abstract nature of primary concepts
in mathematics

Eﬁ

37. FAfIH-HH, THI-BIE, GL-HHI, TS-BI, AT

38.

39.

TN ;

(1) T 7T 378 TTea 2 |

2 o wee 2, s i des & fou
ATTTIF T & |

(3) Her yroaT § ST oo forgor € |

(4) Vel d -G (S-TFR) FTEINE S |

TSI Tga=rl ST, 2005 % TR, HETH!

%wmmmm%%aﬁaﬁnﬁm

T “foreiugar’ o T 7 ATeRT 3TohT ThTth! ST Terd

HI BT & Safh o T § TSl Wawi

FATE |

TEhHT HeH I 0T T2 2

(1) TG § STefral ol WS Y3 39 T

& I T=Ifeld 9 o RO i1 © |

IO, ST ST SR €Y, TET-Te for

gl

gATST bl ol Geieft emond 39 Ar=rar hi

AR A et & foh Teeh aue-gaTe i

%W%TQE%QW SATEONHF THS B
|

(4) gl | T ATt S @ |

eIt Y I <91 B Toh Afrenier foremeff nfvra

! IHT FHedT H S 317 forvr 3 9gd €, 379 3

HiST qHETd § | TG Y Tepdl o1 FrefarRaa

I8 U8 59 W I SGIAT € 2

(1) TTIOT T Torqd IH-¥SR

(2) T ¥ fIU T Y9 & e I BN A

STIhRAT

TIfoTa 7 fereft T T FHTYTE R o foe

S STT-STAT TUNTAAT hl TR

e # At sTEuRenSl ST

Tehfd

c

(2)

3

3)

(4)
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40.

41.

42.

(13)

Who among the following has worked in the
field of mathematical astronomy ?

(1) Aryabhatta

(2) Bhaskaral

(3) Ramanujan

(4) Mahavira

A vegetable seller was selling spinach for
T 60 per kg. Sonu purchased 350 g of spinach
for which the vegetable seller took
T 21 (R6 +3T6 + IT6 + T3) from Sonu.

Which of the following statements is/are true

regarding the mathematical skills used by the

vegetable seller ?

A. This mathematical skill is ambiguous.

B. This skill is not wuseful to solve
mathematical problems in class.

C. Such skills help in developing alternate
strategies for solving mathematical
problems.

Choose the correct option :

(1) Aand B

(2) Only A

(3) OnlyB

(4) OnlyC

Which of the following depicts a situation
where children are constructing knowledge on
their own ?

(1) The best student in the class reads aloud
the multiplication tables and rest of the
students repeat after him/her.

Children are reciting multiplication
tables in a chorus.

Children are given manipulatives like
number grids, tokens arranged in
rectangular arrays and they are exploring
multiplication patterns using them.
Teacher  has  written  incomplete
multiplication tables on blackboard and
children are completing the tables by
writing them on blackboard.

(2)

3

(4)

40.

41.

42,

P-I/A

freferiaa o & fore it @mer-fos & &
T o R g 2

(1) Vg

(2) 9WHTERT]

(3) THESH

(4)

HEER

ek osil o= 91T ITedeh < 60 i forum o= &1

oT | € A 350 TTH UTeTeh Tl fSr8eh foTg wesit

éﬁmﬁﬁ@qﬁ%21(%‘6+?6+%6+? 3)

AT | Hest 3= AT g1 SENT § W@1C U g

it wwed % grry § fAefafed § @

-1/ FHIYT G =/2 9

A, I UMY SISl EIY R |

B. 9T IS Hedl | MU YT hl B H
EANINSIC HPEE R R

C. UH Wiy TOE Il & i *
é@g?maﬂaﬁaﬁﬁﬁﬁwﬁﬂm

|

Fﬁﬁw%\l’ﬁﬁ

(1) AINRB

(2) HITA

(3) Hhad B

(4) HAAC

frefafad & @ sH-d aftfuf a8 qeridt @

Tod 9 T AT S R 8 2

(1) &7 T FATTH BE/STHT YRTS] hl S TIT

T Ug WAL g 3 ot & faemeff 3o

R RE |

oo Ueh |19 URTS] ol Shidd-I8 I & & |

oAl ! SRR AT SE AT &

fire, AR arfiET # safteq et

ﬁﬂé%aﬁtés:mmhﬂaﬂwé?ﬁﬁ

TSR E |

fRrfereht 4 TamHdE W e were ford € HR

gwmaﬁww%@www
|

(2)
(3)

4)
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43.

44.

45.

(14)

Which of the following is the most appropriate
way to help a primary school learner visualize

2
the equivalence between the fractions 3 and

2y

(?l) Using Division method

(2) Using LCM (Least Common Multiple)
method

(3) Using Fraction Discs

(4) Using Calculators

A teacher wuses role play method in

mathematics class. Her aim is :
(1)
(2)
(3)
(4)

keeping children busy.
projecting ideas.
entertaining children.

maintaining discipline.

Subitizing plays an important role in

developing the number sense. Which of the
an of a student

following is example

demonstrating the skill of subitizing ?

(D

Student recognizes the number 6 as 1
added to 5.

(2)

Student rolls a die and is able to say it is
four without actually counting the dots.

3

Student recognizes the number 4 as the
number with 1 taken away from 5.

(4)

Student recognizes the number 5 as the
successor of 4.

43.

44.

45.

[EIEHE
]

feafafeaa @ @ aﬁqm et fommem &
frameff o e 2 o 2 F fm qoad
Wwﬁuﬁawﬁwwﬁmaﬁw%?
1) st () farfer s Swmr

(2) AW FHTIE forfer st S

(3) Tor=T fewsh = 3w

(4)  HFTHA T ITNT

ue frfarser T e § Tt o (yftrerr Frafe)
fafrwr ST AT ® | SHFT SR R

(1) Sl ol % T |

(2) foreml 1 afedem |

(3) STl T IS |

(4)  STTRITE SHTT T&T |

T MY Il T T SuRET (Gferergfsim)
T HeUl e w2 | fefaRaa & @
FI-4T 32T 2 S foramel O Sy & e
T JEI AT ?

(1) formeff @@ 6 Y UEEH 5 H 1 SIS % €9
THEATE |

(2)  Toremeff weh T STeTr € SN o fergaAt
(ETed) I i I 5 | wem ® foh 78 9In
gl

(3) Teremeff g 4 it ve=E 5 7 @ 1 PN
FETH FATR |

(4) Tormeff g 5 it ve=E 4 & Wadt & w9
THEATR |
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46.

47.

48.

49.

50.

(15)

Priyadarshini mixed 4:8kg of almonds,
2500 g of raisin and 3-5 kg of cashews and
packed the mixture equally into three dozen
packets. What is the weight of each packet ?
(1) 650¢g

(2) 250¢g

(3) 300¢g

(4) 500g

The side of a square is 5 cm. How many times
will the new area become, if the side of the
square is doubled ?

(1) 8times

(2) 2 times

(3) 3times

(4) 4 times

Which one of the following groups have all
3-dimensional shapes ?

(1) Cube, Cuboid, Semi-circle, Cone

(2) Cube, Cuboid, Circle, Cone

(3) Cube, Cuboid, Circle, Triangle

(4) Cube, Cuboid, Sphere, Cylinder

Sangeeta wants to buy a soap that costs ¥ 10.
She has a five-rupee coin, 2 one-rupee coins
and 5 fifty-paise coins. How much more money
does she need to buy the soap ?

(1) T2:50

(2) T 050

(3) 150

(4) ¥ 2-:00

Select the group of fractions in an ascending

order :

(D

A

(2)

A

3

W DN|HR DN |-
AN

N e N U e
N[ |k W[ DN~

A

(4)

46.

47.

48.

49.

50.

P-I/A

Trrefyt 3 4.8 kg sGM, 2500 g TR 3R
35 kg WIN &I fHan feam dun s@ fasor =
TS di9 @i Yehe &1 feu | I3 Gohe
T AR F1 8 ?

(1) 650g

(2) 250¢g

(3) 300g

(4) 500g
Q%Tﬁaﬁ‘ﬂﬂT5cm%|qﬁW@fﬁ‘ﬂﬁT
T @ ST, @ T e fhad T A
ST 2

(1) 8TMT

(2) 27

(3) 3T
(4) 47

frafafed wqEl & & femd @t Brommh
IR 7 ?

(1) ®H, 99, 3434, %

(2) ©H, ¥, I, WP

(3) ®H, I, g, By

(4) ©F, OA9, T, S

Tiftar wh @A @leT I ®, e geu
T10 8 | 3G UH Uk Uid BT T e,
2 Teh ®9U & ook X 5 9= 99 & foges 8 |
3 g @led & forw 3 fepat gafsr
TEd & ?

(1) T 250

(2) T 0-50

(3) T 150

(4) T 2-00

Fed g sRH | fidi o Tg &1 =3 I

o))

A
A

(2)

A
A

3

A
A

4)

N
AR W= w|H

N
N[ B[R WM~

WIRN|[HN- |-
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P-I/A
51.

52.

53.

54.

55.

(16)

What is the missing number in the pattern
given below ?

1,6, 15, , 45,66, 91

(1) 36

(2) 28

3 32

(4) 25

Read the following table :

Blood Group | Number of Students
A 9
B 6
0 12
AB 3
Total 30

What is the ratio of the most common and

rarest blood groups ?

1) 1:4

(2 1:3

3) 4:1

4) 3:1

Which of the following statements is not

true ?

(1) A kite becomes a rectangle if its opposite
angles are equal.

(2) A rectangle becomes a square if all its
sides are equal.

(3) A rhombus becomes a square if all its
angles are equal.

(4) A parallelogram becomes a rectangle if all
its angles are equal.

Ammini is arranging 36 identical squares in

the form of different rectangles. How many

different types of rectangles can she make

with these squares ?

(1) Eight

(2) Four

(3) Five

(4) Six

Rubina started her journey by car at

16:50 hours and finished at 21:15 hours on the

same day. The time taken in completing the

journey is :

(1) 4 hours 35 minutes

(2) 3 hours 25 minutes

(3) 4 hours 25 minutes

(4) 3 hours 35 minutes

51.

52.

53.

54.

55.

= feu T Yo ¥ gea sen w@= g ?
1,6,15,___,45,66,91
(1) 36
(2 28
(3) 32
4) 25
frefafaa arferer =t ufew
T GYE faermer #1 aear
A 9
B 6
0 12
AB 3
F 30
Tl 31 R TeH H I AW I Th GHE
ST IFTUTT T 7 ?
1) 1:4
(2 1:3
(3 4:1
4) 3:1

fafafiga & @ S9-91 %um v 787 2 2

(1) 3fE T 9a7 % T IV A &, I 98
Teh 3TRId & ST & |

(2) 9t wh a1 ol qud s @, A
IE Teh 1 & ST 2 |

(3) dfe ueh wEeges & Tt o SUsK g,
I Teh o &9 ST @ |

4) I wh g FqS & @t R SR
g, 1 98 Ueh 3T &9 a2 |

AR 36 T I HI ITAT-ITAT THT h

A H HAfeyd B W R | 98 3T g’

STAT-TAT TR o fehd 3T SHT el & ?

(1) 3138

(2) =X

(3) U=

4) 9:

FAET 9 HR G 16:50 S AT AW IYE hl

IR 3 &7 21:15 o1 Fwed H | AW QW R

T form T g B

o))
(2)
3
(4)

4% 35 e
3 e 25 fiFe
49 25 fiFe
35 35 fiFe
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56.

57.

58.

59.

60.

(17)

A whole number is added to 100 and the same
number is subtracted from 100. The sum of
the two resulting numbers so obtained is :

(1) 200

2 0

(3) 50

(4) 100

‘One hundred lakh’ is also known as :
(1) One billion

(2) Ten crore

(3)
(4)

Which of the
represents a descending order of numbers ?
(1) 10-5,1-50, 1-055, 1-05, 1-005, 0-155
(2) 1-05,1-005, 1-50, 1-055, 10-5, 0-155
(3) 10-5,1-05, 1-055, 1-50, 1-005, 0-155
(4) 10-5,1-50, 1-05, 1-055, 1-005, 0-155

Which of the following is not a factor of 3630 ?
1 11

2 3

3 5

4 9

One crore

One million

following arrangements

The sum of 5-5+5-5+5—-5...... , to odd
number of terms is :

1 15

2 o0

3 -5

4 5

56.

57.

58.

59.

60.

P-I/A

100 # T Pl TE g O § e fR o
&A1 100 | ¥ T 4 A 7 | 39 YHR IH T8
ST TR T AMTHA B

(1) 200

2 o

(3) 50

(4) 100

‘T G Wrg’ ! FAEfatad ' 9 oft ST ST
7
(1
(2)
(3)
(4)

fafafgs @ @ s sy et w6
I HH | FEla el 8 2

(1) 105, 1-50, 1-055, 1-05, 1-005, 0-155

(2) 1-05, 1-005, 1-50, 1-055, 10-5, 0-155

(3) 105, 1-05, 1-055, 1-50, 1-005, 0-155

(4) 105, 1-50, 1-05, 1-055, 1-005, 0-155

frafafea § @ ®H-A1 3630 &1 TH UHETS
T8 2 ?

1 11

2 3

3) 5

4 9

5-5+5-5+5—5 ..., % (oS0 GG 9i I
?ﬁ"'l'cb_c'T%:

(1) 15

2 0

3 -5

4 5
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(18)

PART III / 9T 111
ENVIRONMENTAL STUDIES / U=TeRuT 31ea+

Directions : Answer the following questions by
selecting the correct/most appropriate option.

61.

62.

63.

to
communication with her students for teaching
EVS. Which of the following will she choose ?

(D

A teacher wants select synchronous

Phone

tele-conferencing

calls, pre-recorded videos,

(2)
3

E-mail, social media posts, phone calls

Instant messaging, Dblogs,

tele-conferencing

(4)

Video conferencing, online chat sessions,

phone calls

If theme Travel : Railway Station depicts
utilisation of a community resource in EVS,
which of the following will complete -
theme Food : ?

(D

Agricultural farm

(2) Forest

(3) Shopkeeper

(4) Farmer

While teaching EVS, a teacher’s
statement/question, which encourages

students to elaborate on an answer either on
their own or from the response of their peers,
is:
(1)
(2)
3)
4)

Probing
Conditioning
Chaining

Trial and error

RS : f[Amfefga go41 & 3T 37 & forg agl/aad
e ldsey giae |

61.

62.

63.

ush f3rferenT Seftud freror & forw srom feremfelai o
|1 eashTicrh (FAshIe) SRINOT T <RI T
et © | 98 e | | fore Tt 2

(1) % id, N-Nenies dfemn, Tefi-hiam
(2) 37, g Hifean aree, B Hid
(3) cald HaT, ST, TAT-ShiSh

(4) difear HISHET, AHART ¢ @, BH
i

AT offF AT : TeAel T $al U H Toh HIRTRI
HHTE o IWANT 1 quhiar &, qr freferfad & &
I I BT — offH HISH ?

5y

ST

(1)
(2)

(3) ghMaR

o

(4) fram

saitug 318707 3 U, Uk f1eres Bt SRTE/IST S
Torenfefat =t Tt 3 7u wrfer <Y wfafsramet
T I hT foreqa e 3 fore sieeed ST 2 -
(1) @l 93

s

(3) =

(4) dregor SR

(2)
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64.

65.

66.

(19)

Anita prepares a unit plan to teach the theme
Family. Which of the following will be the title

of her unit plan ?
(1)
(2)
(3)
(4)

Families : Migrating families

Types of Family : Nuclear and Joint
Family : Relationships within a Family
Family : Relationships, Gender Roles,
Occupations, as socio-cultural entity in

changing times

Ms.

primary classes to explain various concepts of

Sheetal likes to use stories and poems in

EVS. The most appropriate logic for her using
stories and poems is to :

A. complete the EVS syllabus as well as
students have heard them before coming
to school.

B. encourage the students to write their own

poems and stories.

C. make the students aware of diversity in
language and culture.

D. make the

enjoyable and interesting.

lessons more interactive,

Choose the correct option :
(1) BandC

(2) Aand B

(3) B,CandD

(4) A,CandD

Which of the following options is a major
objective of teaching EVS from classes Ito V ?

(1)

Acquiring skills to carry out hands-on
activities independently

(2)

Preparing students for studying science
at the middle level

(3) Developing in-depth understanding of the

basic concepts of the subject

4)

Helping learners link classroom learning
to life outside the school

64.

65.

66.
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An EVS teacher demonstrates an experiment
in class in which an egg sinks in a tumbler
with water, but floats upon adding salt to the
water. Which of the following is the most
appropriate explanation she can give to
students’ enquiry ?

(D

Allow each student to conclude on their
own by adding different items in water.

(2)
3

The egg floats due to density of water.

You will learn the correct reason in
higher classes.

4)

Conduct and observe the experiment with
different amounts of salt.

Read the following statements and choose the
correct option :
Assertion (A) :
Learning of EVS needs to be oriented to

process skills relating to observation,
identification, classification, etc.
Reason (R) :

Through acquiring various process skills, the
learning outcomes of EVS learning are
expected to be achieved.

o)
(2)

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(4) (A)is true, but (R) is false.

An EVS teacher should lay emphasis on
while preparing question paper for

summative assessment
(1) Length and objectives of the question
paper

Content coverage and objectives of the
question paper

(2)

3

Total marks and content coverage of the
question paper

(4) Length and total marks of the question

paper

67.

68.
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71.

72.

(21)

70. eI 111 o forenfiat o fou sy § ffafaa

Which of the following is not a learning
outcome in EVS for students of Class III ?

(1)
(2)

Voices opinion on good and bad touch

Voices opinion on issues
observed/experienced and relates to social
discrimination in

practices such as

ownership of resources

Observes rules in few local, indoor,

3

outdoor games

(4) Identifies directions of classroom

You have to select EVS textbooks for your
students of classes III to V. Which of the
following criteria is most appropriate for this
purpose ?

(1) Pictures in the book should be big and

colourful.

(2) The language should be simple and

according to the mental level of students.

The textbook should be illustrated and
appealing to students.

The textbook should be child-oriented and
devoid of any stereotypes or derogatory

3

(4)

attitudes based on gender, caste, class
and religion.

Read the following statements and choose the
correct option :

Assertion (A) :

At the primary level EVS has themes instead
of topics.

Reason (R) :

Theme-based EVS learning is easy for
teachers and students as compared to topics.

(D
(2)

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(A) is true, but (R) is false.
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You want to encourage hands-on activities for
students of EVS. Which of the following is the

most appropriate activity ?
(1) Map reading from a globe
(2) Collecting coins of different countries

(3) Developing an EVS kit from available
material

(4) Drawing parts of different plants on a
chart

Formative assessment of EVS is
A. Assessment for learning

B. Assessment of learning

C. Assessment as learning

D. Assessment about learning
Choose the correct option :

(1) CandD

(2) Aand B

3) AandC

(4) BandC

Read the following statements and choose the
correct option :

Assertion (A) :
Field trips
strategy in EVS.

Reason (R) :

Field trips promote memorisation of objects,

are an effective pedagogical

events and places.
(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
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With respect to Gujarat, the locations of
Uttar Pradesh and Andhra Pradesh,

respectively, are :
(D
(2)
(3)
4)

North-West; South-West
North-East; South-West
North-East; South-East

North-West; South-East

Rama plays cricket with his friends every
evening. Which energy does he use to play
cricket ?

(D
(2)
(3)
(4)

Light energy
Chemical energy
Muscular energy

Sound energy

When we burn fuels we get :
(1)
(2)
(3)
(4)

Only light energy

Heat and light energy
Mechanical and light energy
Light and sound energy

Which one of the following is ‘sticky rice’ and

is a common variety of rice in Assam ?
(D
(2)
(3)
(4)

Bora rice
Arborio rice
Bomba rice

Ponni rice

Select from the following the best period of
the year for the people of Bihar to start a

bee-keeping programme :
(D
(2)
(3)
(4)

October to December
February to April
April to June

August to Oct?ber
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81.

82.

83.

84.

(24) =
Match Column A and Column B : 81. TR A 37 & B & firar shifore -
Column A Column B TTET A Y B
A. Cumin I. Appears like a nail
A I. i aeE fegar
B. Saffron II. Originated in South ST & 8
America B. & IL.  gfequfl Sfeent & St
C. Chillies III. Yellow in colour c. fd TIL fie O7 &7
D. Clove IV. Small but fragrant D. i V. ©
(1) A-I, B-III, C-II, D-IV R
(1) A-I, B-III, C-II, D-IV
(2) A-1V, B-III, C-II, D-1
(38) AL BIV. C-I. D-II (2) A-1V, B-III, C-II, D-1
’ 7 (3) A-III, B-1V, C-1, D-I1
(4) A1V, B-1, C-TII, DI (4) A-1V, B-1, C-III, D-II
gggg(;(l)a;:t.al State/Union Territory of Bay of 82. #r @-lgs[ F1 qeadt UW/%#TS{—FIT&I?T el
) 2
1 ish A
E2; Eg;iaiaka (L
(2) FAlCH
(3) Kerala 3) e
(4) Telangana @) ST
Consider the followi tat t bout T i et By £ £
foc;zl:ist?r e following statements about| . St T :
A. ‘Torang’ means forest in Kuduk language. A. oi\,g g “.“ o GRIT T Heer STed Tl
B. The Village Council (Panchayat) in B. Wﬁ, aH ql‘(qa\(qama) ATedl o A
Jharkhand decides which family will get pe) g qF HLdl % for fore gf@m =t ECB]CEI *
how much land for farming, by lottery. mﬁ’ﬁ:ﬁ wfey firert |
. B (=N
C: e Rt b forst A 300 goe x|, sy s g, 7 5% s 9
the forest for at least 15 years. hi 2 S HH-O-HE 15 a9 ¥
D. About three-fourth people in Mizoram are STAI A R E |
linked to the forests. D. TSI # A dH-=TE A Sl § 9
The correct statements are : quE|
(1) BandC T T HA G
(2) AandC 1 B AR C
(3) AandB @ A A C
4) AandD
@ Aan 3) A3INB
What is the mass of an object with a density of (4) AIRD
24 g/mL and 1 f 6 mL ?
Fhandavoime st m 84. 24 gmL T 3N 6 mL AT Tl T BT
(1) 146¢ FSIHT T B 2
(2) 142¢ (1) 146¢
(2) 142¢g
(® 143¢ (3) 143 g
4) 14 1
@ “Bownload from www!MsEdiftgationTv.com
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Consider the following statements about

snakes and identify the incorrect one from

the following :

(1) They swallow their food whole.

(2) Snakes have sharp teeth.

3

Poisonous snakes have fangs.

(4) They chew up their prey.

Bronze is an alloy made by melting the

following :
(1)
(2)
(3)
(4)

Tin and copper
Copper and zinc
Aluminium and zinc

Zinc and tin

Select the correct statements about elephants
from the following :

A A baby
generally weighs about 100 kg.

three-month-old elephant

B. An adult elephant can eat more than
200 kg of leaves and twigs in one day.

C. Elephants do not rest very much; they

sleep for only two to four hours in a day.

D. Elephants like to play with mud and
water.

(1) BandD

(2)

(3)

(4)

Aand B
Aand C
Cand D
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Consider the following statements A and B :
Statement A :

In Manali, houses are constructed with wood,
slanting roofs and elevated on strong bamboo
pillars.

Statement B :

Manali receives a lot of rain and snowfall.
Choose the correct option :

(1)
(2)
(3)
(4)

A is incorrect, but B is correct
Both A and B are correct
Both A and B are incorrect

A is correct, but B is incorrect

Read the following statements and choose the
correct option :
Assertion (A) :
On applying pressure, gas can be compressed

easily.

Reason (R) :

When we apply pressure to a gas, the
intermolecular space between gaseous

particles decreases and it gets compressed.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the

correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(4) (A)is true, but (R) is false.

Consider the following main functions of

plants :

A. To produce and store food

B. To give strength and support to the plant

C. To transport water and minerals from
roots to other parts of plant

The main function(s) of the stem is/are :

(1) OnlyBandC
(2) Only B
(3) Only A and B
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
LANGUAGE - 1.
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PART IV

LANGUAGE I
ENGLISH

Directions : Answer the following questions by
selecting the correct/most appropriate option.

91. Choose the strategy that matches the
example.

‘I focus on the language I use to make sure it is
correct.”

(1) Translanguaging
(2) Memorising

(3) Revising

(4) Self-monitoring

92, Students in Class II sing a song, ‘Head and
shoulders, knees and toes’. They touch the
correct part of their body as they sing the
song. Which method is the teacher using to
teach them ?

(1) Eclectic

(2) Audio-lingual

(3) Communicative Language Teaching
(4) Total Physical Response

93. Students work in groups to answer five
questions about vocabulary from the previous
unit. Then, they exchange questions with
another group and try to answer the
questions. This is an example of :

(1) Peer assessment
(2) Self-assessment
(3) Feedback

(4) Reading assessment

94. I like it when the teacher gives me a card with
a word or phrase on it and I have to act it out
for the rest of the class so that they guess the
word.

Find the learners’ comments with the

learners’ preferences listed below:

(1) I remember language well when I am
kinesthetically involved.

(2) Iremember language well when I see it.
(3) Iremember language well when I hear it.

(4) T remember language well when I
memorlse the hras rom the card.

Downlo rom wWww.

95.

96.

97.

98.

99.

Read the following statements and choose the

correct option :

Assertion (A) :

All children who enter school are competent

language users according to their age.

Reason (R) :

Due to language and cultural diversity, they

are unable to demonstrate their abilities.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(4) (A)is true, but (R) is false.

Manjeet of Class V speaks in different ways

to his teacher, to his friends and also to a

two-year-old child. It means Manjeet knows

how to use language in social situations. What

is this attribute of a language known as ?

(1) Act of speech

(2) Naturalist

(3) Semantics

(4) Pragmatics

A mother notices that her child sometimes

says things that she has never heard adults or

her siblings say. She is confused, as she

believes that the child learns language by

imitating people in her family and immediate

surroundings. Her belief resonates with :

(1) Multilingualism

(2) Nativism

(3) Behaviourism

(4) Constructivism

The set of skills that develop before children

begin formal reading instruction and which

provide the foundation for later academic

skills is :

(1) Emergent literacy

(2) Emergent solution

(3) Emergent curriculum

(4) Emergent properties

A grandmother loves to read out stories from

books to young children at home and, in this

way, exposes them to books and new ideas,

and the children are actively engaged in this

process. This technique is known as :

(1) Aloud reading

(2) Model reading

(3) Shared reading
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100.

101.

102.

103.

(29)

An approach to teaching reading that starts
with basic elements like letters and phonemes
and teaches children that phonemes can be
combined into words before moving on to
reading as a whole is :

(1) Structural approach

(2) Top-down approach

(3)
(4) Whole language approach

Read the following statements and choose the
correct option :

Assertion (A) :

Use of phonetic spelling slows down the ability
to learn to spell correctly.

Reason (R) :

When young children use spellings that they
‘invented’ rather than conventional spellings,
it does not slow down their ability to learn to
spell correctly.

Bottom-up approach

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(4) (A)is true, but (R) is false.

In learning a new language, many students
often lack confidence when speaking due to
the language’s unique pronunciation rules.
One way to overcome this problem is by :

(D

correcting errors whenever they happen.

(2) letting children read aloud in class.

(3) using game-like activities that require
verbal interaction in the classroom.

(4) conducting special speech therapy with a

counsellor and practice through drills.
A teacher of Class III is presenting new
vocabulary to the learners. Which one of the
following is an effective way to present the
new vocabulary ?
(1) The teacher should write its meaning on
the blackboard and ask learners to learn

it by heart.

(2) The teacher should tell them the
antonyms of words and give the meaning
in their language.

(3) The teacher should give them a concise
definition of words.

(4) The teacher should try to explain a word’s

meaning in the situation in which it

“Download from www
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104. Learning a language is a matter of ___

105.

(1) skill

(2) acquisition
(3) process

(4) product

Match the ways of reading with what readers

do:
Ways of
reading

A.  Predicting 1.

B. Inferring ii.
attitude

C. Deducing iii.

meaning

from context

D. Intensive iv.

reading

E. Identifying wv.
text

organisation

What readers do

They determine how
writers feel based on

how they write.

They use parts of the
text to help them
understand
unfamiliar lexis.
They look at how
the

structured,

information is
by
noticing headings or
introductory phrases.
They focus on how
language is used in a

piece of text.

They use titles and
pictures to  give
themselves ideas
about what the text

is about.

(1) A-iv, B-iii, C-ii, D-i, E-v
(2  A-v, B-i, C-ii, D-iv, E-iii
(3)  A-i, B-iv, C-v, D-ii, E-iii
(4)  A-ii, B-i, C-iii, D-iv, B-v
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Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 106 to 114)
by selecting the correct/most appropriate option.

In the middle of her solo trip to Mizoram last
month, Geeta Garud, 69, was walking on a narrow
ledge, “making my way behind a waterfall, trying
out something I wouldn’t have in my younger
years. And I realised how travelling solo was such
a liberating experience.”

Before going on her week-long holiday, she
was hesitant about travelling by herself. Garud
had asked friends and family but found no takers.
Yet there she was, alone, relishing a challenging
trek. “Why was I being dependent on others?
Being alone gives you a sense of freedom.”

She ended up having many firsts. She danced
impromptu at a festival in Reiek, waded into
a river, and went horse-riding. “I had
opportunities to try horse-riding when I was
younger, but could not work up the courage. This
time, I thought, if not now, I may not get another
chance,” says Garud, who was an athlete in her
youth and had played cricket.

She was at her farm in Koregaon during the
lockdown and had felt the lack of social
connections. It motivated her to travel as soon as
things eased.

“Travel is also about meeting people; I felt
that sense of joy and freedom when I finally did
it.” She is planning to travel to Europe next and
has decided not to take a friend or relative along.
She intends to revisit the joy of travelling alone
and relishing a sense of freedom all over again.

106. Which of the
incorrect ?

following statements is

Travelling alone in distant Mizoram at the age
of 69 :

(D

was very enjoyable but very tiring.

(2) was a novel experience for Garud.
(3) she was taking a big risk.
(4) she was breathing an air of freedom.

Download from www.
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107. Garud travelled alone as :

(1) a companion would have offered her
unasked for advice.

it was less expensive.

no one agreed to accompany her.

she did not like company.

(2)
3
4)

108. Which of the
true/false ?

A. Initially, she did not like to go alone.

B. She wanted only a friend to go with her.
Choose the correct option :

(1) Both A and B are false.

(2) Ais true and B is false.

(3) Bistrue and A is false.

(4) Both A and B are true.

following statements is

109. Study the following statements :

A. She practised only for a day before
dancing in a festival.

B. Horse-riding is a courageous skill.

C. Her experience as an athlete helped her
in trying horse-riding.

Choose the correct option :

(1) A and B are false, but C is true.

(2) A and B are true, but C is false.

(3) B and C are true, but A is false.

(4) A and C are true, but B is false.

110. Which one of the following statements is not

true ?
(1) Garud’s

Koregaon.

family owned a farm at

(2) During lockdown, Garud felt isolated and
lonely.
(3) A friend might not have let her wade into
ariver.
(4)

Walking on a narrow ledge is an easy
task.

»

111. “And I realised how travelling solo was ..... .

The underlined expression is a/an
clause.

(1) Adverb
(2) Principal
(3) Noun

4 djective
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112. ‘Garud had asked

family but found no takers.’

friends and

The underlined word is a/an
(1)
(2)
3)
4)

Interjection
Noun
Pronoun
Conjunction

b

113. ‘She was hesitant ..... .

Choose the word nearest in meaning to the
underlined one.

(D
(2)
3
(4)

114. ‘...

Choose the word opposite in meaning to the
underlined one.

willing
keen
disinclined
harmless

relishing a challenging trek.’

(1) realising

(2) disliking

(3) revealing
(4) denying

Directions : Read the poem given below and answer
the questions that follow (Q. Nos. 115 to 120) by
selecting the correct/most appropriate option.

Gather ye rosebuds while ye may,
Old Time is still a-flying;
And this same flower that smiles today

Tomorrow will be dying.

The glorious lamp of heaven, the sun,
The higher he’s a-getting,

The sooner will his race be run,
And nearer he’s to setting.

That age is best which is the first,
When youth and blood are warmer;
But being spent, the worse, and worst
Times still succeed the former.

Then be not coy, but use your time,
And while ye may, go marry;

For having lost but once your prime,

YoumapsERAiad from www

(31)
115.

116.

117.

118.

119.

120.

P-I/A
The poem is addressed to a/an

(1) old unmarried woman
(2) gardener

(3) young woman

(4) old friend

The example of the sun is given to :
(1) describe the glory of his light.

(2) describe the fast passage of time.
3)

(4) warn of his setting.

show his warmth.

What does the poet tell us about young age ?
(1

Time will soon pass and it is a time to

find one’s love.

(2) Itis atime to work hard.

(3) Time will soon pass.

(4) Itis atime to find one’s love.

Which of the following statements is
true/false ?

A. Gathering rosebuds is the same as

enjoying one’s life.
B. The sun can’t keep on shining forever.
Choose the correct option :
(1) Both A and B are false.
(2) Ais true and B is false.
(3) Bis true and A is false.
(4) Both A and B are true.

‘And this same flower that smiles today.’
Identify the figure of speech used in this line.
(1) Hyperbole

(2) Simile

(3) Metaphor

(4) Personification

Identify the figure of speech used in : ‘The
glorious lamp of heaven, the sun’.

(1) Hyperbole

(2) Simile

(3) Metaphor
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
LANGUAGE - 1.
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - II.
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PART V

LANGUAGE 11
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 121 to 127)
by selecting the correct/most appropriate option.

Father would dress himself for court in a
brightly coloured dhoti, a matching white shirt
with an equally bright white turban and a neat
black coat. The paraphernalia to court would
include a cloth bundle containing court papers and
a basket containing hot coffee with tumblers
and plates for tiffin given by my mother or
sisters-in-law.

The younger advocates of his time were great
admirers of my father and used to listen to him
with rapt attention whenever he rose to address
the court. His arguments were forceful, coherent,
cogent, compulsive and conclusive. The arguments
would go on till about lunchtime and even the
English judge used to take down notes of his
points.

One client was particular that my father alone
should argue his case. On the day my mother died,
this case happened to be on the cause list. My
mother was alive when my father left for court at
10 a.m. that morning and he had told my brother
that he would return as soon as the case was over.
Unfortunately, she died within an hour of his
departure.

With some difficulty, the news was conveyed
through an advocate in court. My father, however,
continued his arguments without showing any
emotions. Only after concluding the case did he
get back home to the room where my mother’s
body lay and stood in stoic silence.

121. Father was very particular about dressing :

(1) as he wanted to follow the proper dress
code.

(2) to impress the judges.
(3) to impress his family.

(4) as he was rich enough to buy good
clothes.

122,

123.

124.

125.

Which of the following statements are

true/false ?

A Father avoided eating in the court
canteen.

B. He liked to drink hot tea during the day.

C. He carried case files wrapped in a cloth.
Choose the correct option :

(1) A and B are false, but C is true.
(2) A and B are true, but C is false.
(3) B and C are true, but A is false.
(4) C and A are true, but B is false.

Which of the following statements is wrong ?

(1) He was the preferred lawyer of some
clients.

(2) Young advocates wanted to learn from
him.

(3) Only a few were jealous of his popularity.

(4) He argued his cases logically and
persuasively.

Which of the following statements are
true/false ?

A Even the judges recognised his legal
acumen.

B. He preferred his legal obligations to
family obligations.

Choose the correct option :

(1) Both A and B are false.
(2) Ais true and B is false.
(3) Bis true and A is false.
(4) Both A and B are true.

‘His arguments were forceful, coherent,
Choose the word similar in meaning to the
underlined one.

(1) calculating
(2) reasonable
(3) crazy

(4) witless
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126. “............ a bundle containing court papers.’ 128.

The underlined word is a/an :

(1) Adverb

(2) Noun

(3) Verb

(4) Adjective 129.
127. ‘One client was particular that my father ....... ’

The underlined expression is a/an

clause.

(1) Adverb

(2) Principal 130.

(3) Noun

(4) Adjective

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 128 to 135)
by selecting the correct/most appropriate option.
Dorothy lived in the midst of the great Kansas
prairies (grasslands) with Uncle Henry, who was a
farmer, and Aunt Em, who was the farmer’s wife.
Their house was small, for the lumber to build it
had to be carried by wagon from many miles afar.
There were four walls, a floor and a roof, which
made one room; and this room contained a rusty
looking cooking stove, a cupboard for the dishes, a
table, three or four chairs, and the beds.

Uncle Henry and Aunt Em had a big bed in
one corner, and Dorothy a little bed in another
corner. There was no garret at all, and no cellar —
except a small hole dug in the ground, called a
cyclone cellar, where the family could go in case
one of those great whirlwinds arose, mighty
enough to crush any building in its path. It was
reached by a trapdoor in the middle of the floor,
from which a ladder led down into the small, dark
hole.

When Dorothy stood in the doorway and
looked around, she could see nothing but the great
gray prairie on every side. Not a tree nor a house
broke the broad sweep of flat country that reached
to the edge of the sky in all directions. The sun
had baked the ploughed land into a gray mass,
with little cracks running through it. Even the
grass was not green, for the sun had burned the
tops of long blades until they were the same gray
colour to be seen everywhere. Once the house had
been painted, but the sun blistered the paint and
the rains washed it away, and now the house was
as dull and gray as everythin

own
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131.

132.
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Which one of the following statements is true ?

(1) Uncle Henry’s house was freshly painted.

(2) Dorothy’s parents were rich farmers.

(3) Uncle Henry had a big farm.

(4) She lived in a small and shabby house.

Which one of the following statements is true ?

(1) There was no tall tree near the house.

(2) The house was a comfortable brick house.

(3) It was made of wood, as wood was easily
available.

(4) Dorothy slept in a big wooden bed.

Study the following statements :

A In the vast grassland, Uncle Henry’s was
the only house.

B. There was sun-baked gray grass all
around.

C. In the middle of the prairies was a green
field ploughed by Uncle Henry.

Choose the correct option :

(1) A and B are wrong, but C is right.

(2) A and B are right, but C is wrong.

(3) B and C are right, but A is wrong.

(4) A and C are right, but B is wrong.

Study the following statements :

A. Uncle Henry had a tractor trolley in
which wood was carried.

B. The wood for the house was carried from
far away.

Choose the correct option :

(1) Both A and B are wrong.

(2) Aisright and B is wrong.

(3) Bisright and A is wrong.

(4) Both A and B are right.

Which of the following statements are true (T)

and which ones are false (F) ?

A. The fear of a cyclone loomed large on the
family.

B. They had built a shelter for protection
against wind and rain.

C. Around the house there was nothing to
reduce the impact of a storm.

D. Their drawing room had only three or
four chairs.

Choose the correct option :

(1) TFTF

(2) FTFT

3 TTTF
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134.

135.

(40)
Crrreeeens with Uncle Henry, who was a farmer.” [ 138.
The underlined word is a/an clause.
(1) Adverb
(2) Principal
(3) Noun
(4) Adjective
‘a cupboard for the dishes.’
The underlined word is a/an 139.
(1) Article
(2) Conjunction
(3) Preposition
(4) Adverb
There was no garret at all.
The underlined word nearly means the same
as a
(1) pantry 140.
(2) loft
(3) study
(4) toilet
Directions : Answer the following questions by
selecting the correct/most appropriate option.
141.

136.

137.

While planning lessons for young learners, the
teacher decided to focus on the Total Physical
Response (TPR) method. Which one of the
following should be used to include TPR in the
lesson ?

(1) Must keep activities aside and instead
ask questions and motivate them to
respond.

(2) Must ensure to add some bodily activities
in class.

(3) Choose activities that help them stay in
their seats and work in pairs or groups.

(4) Must add some listening activity in class.

Which approach to grammar encourages the
belief that learning a language is a matter of
learning rules ?

(1) Grammar Translation
(2) Deductive

(3) Inductive

(4) Communicative

142.

[EIEHE
]

A teacher is planning to give a free writing
task to learners in Class V. Which one of the
following should be focused on most by the
teacher ?

(1) The handwriting of the learner

(2) Accuracy of the content

(3) Fluency of the content

(4) Both fluency and accuracy of the content

Top-down means ‘attend to the overall
meaning’. What does ‘bottom-up’ mean ?

(1) Focus on asking short answer type
questions

(2) Focus on the gist of the text and abstract
ideas

(3) Focus on pre-reading

(4) Focus on the words and phrases of the
text

Which among these is the primary

responsibility of the language teacher ?

(1

Instructing the learners

(2) Identifying the learner’s communicative
needs

(3) Selecting suitable content for teaching

(4) Grouping learners into different classes

A young child picks up a book, holds it right

side up, and turns the pages. These activities
demonstrate :

(1) emergent solution skills
(2) emergent literacy skills
(3) emergent curriculum
(4) emergent properties

Read the following statements and choose the
correct option :

Assertion (A) :

Learners acquire languages since they are
genetically predisposed to do so and the
environment does not play any role in it.
Reason (R) :

The learner-centered classroom environment
has a great impact on language acquisition.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(A) is true, but (R) is false.

E
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143.

144.

145.

146.

(41)

A way to teach reading that emphasises
understanding the meaning of words from the

context in which they appear is :

(1) Structural approach
(2) Communicative approach
(3) Bottom-up approach
(4) Whole language approach

The ability to think and talk about language
is:

(1) Metalinguistic ability
(2) Phonological awareness
(3) Proficiency

(4) Emergent literacy

A mother asked the teacher of Class II how it
was possible for her child to sometimes say
things that she had never heard any adults or
siblings say. How is it possible ?

Which one of the following is the apt answer to

this question ?

(1) As per the -constructivist approach,
children can invent new languages.

(2) Children learn language only by
imitating adults.

(3) The human brain is innately wired to
learn language.

(4) A child learns language when we

reinforce the development of the child’s
language.

A technique used to facilitate early literacy,
which involves an adult and a child looking at
a book together while the adult asks questions
a dialogue, followed by
so that the child asks
questions to the adult, is called :

and encourages

switching roles

(1) Storytelling

(2) Model reading
(3) Shared reading
4)

Difegswrii®ad from www

147.

148.

149.

150.
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A teacher can develop the listening skills of
language learners by :

(1) making the learners listen to everything
they hear passively.

(2)

speaking continuously to learners both
within the classroom and outside.

(3) focusing only on listening skills without
associating them with other language

skills.

creating opportunities for learners to
listen to a variety of language sources
and people and engaging in other
listening activities.

4)

Read the following statements and choose the
correct option :

Assertion (A) :

Accuracy in language is most important at the
primary level.

Reason (R) :

Grammar is an integral part of the primary
curriculum.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

3

(4)

Theoretical positions and beliefs about the
nature of language, the nature of language
learning, and the applicability of both to
pedagogical settings is :

(1) Technique
(2) Syllabus
(3) Content
(4) Approach

Formative evaluation is :
@))
(2)

not subjected to change.

what is happening in the

teaching-learning process.

3

related to ongoing development and
improvement.

4)

carried out at a pre-specified or particular
stage in the course.
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
LANGUAGE - II.
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(7.9. 128 & 135) # @gl@ad 3Iugw IN
Fret [9heq # FAT |

WRA W Ud, Icdd SR HAT hl |Gl IO T
2 | 3 St 1 frd wehfe g At R, sk o
sreferareer 1 off SIgq dreha firerd @ | wivTgE & Emd
HElcqe SIS TR T | AT §a STehfcer |ied,
Hiwapfae Tyfg & w1 U6 U7 © foF & S a8t U an
SEL AMT AEdT § | HE HElewd SE SIS
ARt 3 Sedt 1 oft TS o B | 39 oI
JTTAISH Ut ¥ 3T off SATST 7o Ty | AT 3777 ©
ST HUTYL 3 AT shT AT ST 3Tk Sl i fG@TdT 2 |
T HEIcHd Uedl SHIeT deh & HifHd &dr o, Afer 39
IR R TT § 3R AESH foFm T 8 | S W
SATAISHT bl SATET ¥ SATET AN oh 91 ST T 2,
et 5wl Ol &xwel | ST AT € |

128. “HTTE HEIcHa hl TRISH
T |
(1)
2)
(3)
(4)

T feram
SHR-YH T
auft et
TfiTR

D

Bl

qRd h 9o § fefofed @ @ sig-ar e
TE 22

(1) dud

(2) TIER

(3) IcEa

4) O

129.

130. HUTX o fee g 2 |
(1) T 3R FE
(2) IR T

(3) TR €igd
4) ScHI-ARIcEd
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TS AElcdd o A= o
oy frear 2|

(1) TdEET
(2) WiEHidH I
(3) forwft wier
(4) RIS Higd

= ot

131.

132, UEN 3R IS F WelcHd o ARASH H 7oA ST

FITR?

(1) e AT &, 37e aféqor wia §
(2) TR $HIA H, T W IH-H A

(3) UE hact §HICA H, S P
(4) e AL H, A I WA H

WW@'@I—%@E%:
(1) HE+3cHd

(2) WEl+cd

(3) Hal+3c4d

(4) TEH + 3cHd

133.

T I TSIV @ -
(1) Wid

(2) wiEHidH

(3) EE&Hd

(4) RN

134.

T § ToREehT &THdT o a3 hl o1 ol TS
77
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135.

TR SheaT3Tl sh
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137. o0 Q™ T HA-G7 SUTH 39 A i
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(1) TR SR

(2) AT

(3) HATTHATH

(4) EIYUTHS
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T ffaRaa o & fofa s W e Shfega
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(3) forerareq ® warEar
(4) YaTE 3 THar AT W & & oA
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY : |fFferRaa fdett @t eomr @ o

1. The manner ﬂ.’l which theldifferept (%luestions arledto 1. &9 vor 3 -[%lﬁ.—;[g-g—,ﬁ % IW ﬁ“’Q IE) % 3IGHRT
beh?nswered as been explained in the Test Booklet i e g’f{?cﬁﬂ 3 FRaT T %, Y 39 g
which you should read carefully before actually :
answering the questions. STl é%[ kil tl%ﬁ S H 96 d | o~

2. Out of the four alternatives for each question, only | 2. I 9 o fou fou U = m foashedi & @ @&t I
one circle for the correct answer is to be darkened N %I‘Q OMR 3T 93 &% U8-2 W had Ueh Eq)
cqmpletely with Blue/Black Ball Point Pen on il @ TWE Ae/fwTad aret trfge U7 T W | Teh a1
Side-2 of the OMR Answer Sheet. The answer once Yifopa
marked is not liable to be changed ST A e Sl TR S % l

ged. . SGe HebdT

3. The candidates should ensure that the Answer Sheet | 3. qﬁaﬂgﬁ ﬁi Tod W foh 36 I A I HIgT 7 WY
is not folded. Do not make any stray marks on the Td 39 T q"ﬁé = i 7 @md | ghemeff s9en
Answer Sheet. Do not write your Roll No. anywhere RS IR U H iyt wom & ifafs o=
gl}?e texcept in the specified space in the Answer g |

eet. . A !

4. Handle the Test Booklet and Answer Sheet with |4 qﬁ&ﬂ U 3T YA bl W@T’B ‘_’F’i’
care, as under no circumstances (except for TR ot oftfeufa (a’)_‘ﬂ?’f Lrita| ﬂﬁ}(ﬁb—[
discrepancy in Test Booklet Code or Number and T I 99 & <hig I g ¥ fiwar i feafa
Answer Sheet Code or Number), another set will be @ﬁ—S'EF»I) @ e 3-%'7"'_’1 3IYeTsy ol HOA Gl'l'Q"ﬁ |
provided. i .

5. The candidates will write the correct Test Booklet | 5. q’ﬁ&:l'f /3R H feu T e E@F’F’ Eﬁ’g el
Code and Number as given in the Test &1 el g8t ale 9 sufeafa-ux 8 fod |
Booklet/Answer Sheet in the Attendance Sheet. 6. OMR I 93 H shifed AHhH] sl T 73fi9 gl |

6. A machine will read the coded information in the ot 31%39[ 3 B8 3R g el ‘ﬂ e
OMR Answer Sheet. Hence, no information should be A ﬁﬁ[ﬁ ;
left incomplete and it should not be different from 6 Tré a1 :‘:'59[ Eﬁ:ﬁ d %Q |
the information given in the Admit Card. 7. vhenell grr Wi gict/we ¥ Yo U & e femet

7. Candidates are not allowed to carry any textual ThI hl qied H’Iﬂ?ﬁ, H@'ﬁ g7 S%dfafii\ d, °hIlsl =)
material, printed or written, bits of papers, pager, q-[.\—ci—q-"f, agr{, tﬁw q,ﬁq, n IqeRTur A7 foReY
mobile phone, electronic device or any other material THT et 3T
except the Admit Card inside the Examination S . # ® A a B H
Hall/Room. Wﬁ Tl % | . . . .

8. Mobile phones, wireless communication devices |8. Ihm‘ﬁ?, éww z (ﬁ%ﬁf 3T W?JTﬁ
(even in switched off mode) and the other banned ‘lﬂ) 3 3 gfasfya EFFQ”Q' qien gia/ey § Tdl
items should not be brought in the examination NIERSIGIRC I ] =1 1_qIeH | B W
halls/rooms. Failing to comply with this instruction, qier o e e T STa
will be considered as using unfair means in the qﬁmﬁ ¥ Wﬁrﬂﬁ Wﬂﬁ;ﬁ e
examination and action will be taken against the &:nl ’ & ®
candidate including cancellation of examination. afge

9. Each candidate must show on demand his/her|9. EIC] T gy qhemeff, filiess @ oo
Admit Card to the Invigilator. O T

10. No candidate, without special permission of the o aﬂqﬁ
Centre Superintendent or Invigilator, should leave 10. ?m%%ﬁ%a;ﬁ ?EF Eﬁl % form Eﬁ?%
his / her seat.

11. The candidates should not leave the Examination |11. FRd_ e w1 o I W %Q fam o
Hall/Room without handing over their Answer Sheet Iufeafaday BEATET ﬁF:Q forr wiemeff wen
to the Invigilator on duty and sign the Attendance gla/%he Tal | afe foreft gdtereff 4 q\g’ﬁ TR
tSﬁleet twice. Cases where candidate has not signed IYFRIfI-UT W gedter et fhU af 98 o Sme

e Attendance Sheet second time will be deemed not o T 7 % 3R
to have handed over the Answer Sheet and dealt ST 9 gz 3 I, |G
with as an unfair means case. The candidates are HAAT AT QT | odyeredt 3Tq%f ¢ FA H
also required to put their left-hand THUMB T &1 o sufeafaas o ﬁq T TLATT W
impression in the space provided in the AT mﬁf |
Attendance Sheet. o > o

12. Use of Electronic/Manual Calculator is prohibited. 12. T gl VE /&% E. SRS =l

13. The candidates are governed by all Rules and|13. TO&-glci/®& T AT & fore gdreneff wdteror Twen
Regulations of the Examining Body with regard to & gy gt 'Q?:[ i F{LAl frafia €
their conduct in the Examination Hall/Room. All YA & Tt qTHAT BT BEAT T T % X
cases of unfair means will be dealt with as per Rules P R & BT |
and Regulations of the Examining Body. o SR8 ,[

14. No part of the Test Booklet and Answer Sheet shall | 14. foreft oft aftfeurfa ﬁ e ﬂ'm 3R IW 9T A
be detached under any circumstances. AT AT T AL |

15. On completion of the test, the candidate must | 15 gfterr True @ﬁ w, gremeft Hefeiet BEaT 1@

hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed

s v Tt @i sraya w@ia § | aderef oge

AT 3T TNET GIeeishT &1 & 71 qhat § |




